Env. Sci. Prometric #2

1. In what layer of the atmosphere is most of the harmful ultraviolet radiation from the sun filtered out by ozone gas?
	a. biosphere

	b. stratosphere

	c. geosphere

	d. hydrosphere




2. Abandoned farmland, cut or burned forests, heavily polluted streams, and land that has been flooded are candidates for
	a. primary succession.

	b. secondary succession.

	c. resilience.

	d. mutation.




3. After an earthquake, different groups of the same species may become physically isolated from each other, stay isolated for a long time and eventually become so genetically different they would no longer be able to reproduce with each other. What is this called?
	a. allopatric speciation

	b. reproductive isolation

	c. an endemic species

	d. insular speciation




4. If more people ate at a ______________ trophic level, consuming things like whole grains, vegetables, and fruits, the world could support _____________ people.
	a. higher, more

	b. higher, less

	c. lower, more

	d. lower, less




5. The conversion of one or more carbon molecules and nutrients into organic matter without using sunlight as an energy source is called
	
	a. photosynthesis.

	
	b. aerobic respiration.

	
	c. fermentation.

	
	d. chemosynthesis.




6. Which component of biodiversity is vital to life on earth adapting to and surviving major changes in the environment?
	a. genetic diversity

	b. ecological diversity

	c. functional diversity

	d. species diversity


7. What biome has alternating wet and dry seasons, warm temperatures usually lasting year-round, and scattered clumps of trees?
	a. savanna

	b. temperate grasslands

	c. cold grasslands

	d. arctic tundra




8. The biological science that studies how organisms interact with abiotic and biotic environments is called
	a. ecology.

	b. genealogy.

	c. kinesiology.

	d. cryo-biology.




9. From one trophic level to the next, a percentage of usable chemical energy is transferred as biomass. This measurement is called
	a. gross primary productivity.

	b. ecological efficiency.

	c. net primary productivity.

	d. pyramidal efficiency.




10. What is an example of human activity adding carbon dioxide to the atmosphere?
	a. eating fruits and vegetables

	b. clearing trees in tropical forests

	c. using electric blankets

	d. aquifer depletion




11. Algae is an example of a
	a. recycler.

	b. consumer.

	c. producer.

	d. decomposer.




12. The success of human beings as a species, according to evolutionary biologists, is attributed to three adaptations. What is NOT one of these adaptations?
	a. strong opposable thumbs

	b. the ability to walk upright

	c. genetic resistance

	d. a complex brain




13. Within a population, some individuals have traits that increase their ability to survive and produce offspring that have the same traits. This is called
	a. natural selection.

	b. survival of the fittest.

	c. biological specificity.

	d. biological evolution.




14. In African grasslands, elephants create forest openings by uprooting trees. This benefits smaller animals because it promotes grass growth. Elephants are a(n)
	a. native species.

	b. keystone species.

	c. indicator species.

	d. foundation species.




15. Which of the following statements about ecosystems is NOT true?

	a. Some species migrate from one ecosystem to a different ecosystem.

	b. There are clear boundaries between ecosystems that keep the ecosystems isolated from each other.

	c. A forest can receive water from a river that is close to it.

	d. Matter and energy move from one ecosystem to another.




16. If an estuary or shallow lake receives increased natural nutrient enrichment from plant nutrient runoff from the surrounding land, the process is called
	a. salinization.

	b. water logging.

	c. eutrophication.

	d. desertification.




17. What five countries had the largest population in 2010?
	a. China, India, the United States of America, Indonesia, Pakistan

	b. China, India, the United States of America, Indonesia, Brazil

	c. India, China, the United States of America, Mexico, Russia

	d. China, Indonesia, Pakistan, the United States of America, Nigeria




18. Major sources of carbon monoxide include
	a. nuclear power.

	b. manure.

	c. open fires.

	d. none of the above




19. Which of the following is NOT a reason that the percentage of plastic waste that is recycled is low?

	a. Many plastics are hard to isolate from other wastes.

	b. Plastic can usually be recycled into a lower grade quality plastic.

	c. The cost of virgin plastic resins is much lower than recycled resins.

	d. none of the above


20. Over the past 8,000 years, human activities have reduced the earth's original forest cover by about how much?

	a. 0.02

	b. 0.036

	c. 0.46

	d. 0.68


21. Desertification is defined as the

	a. cause of flash flooding.

	b. result of encroaching deserts.

	c. product of deforestation.

	d. degradation of dry lands.


22. What does burning coal release?

	a. large amounts of particulates

	b. carbon dioxide

	c. toxic mercury

	d. all of the above


23. Which of the following is NOT one of the “Green Revolution” initiatives of the 1940’s - 1970’s?

	a. expansion of irrigation infrastructure

	b. organic gardening

	c. use of synthetic fertilizers

	d. genetically engineered crops


24. Mass movements of surface water produced by prevailing winds blowing over the oceans are called

	a. spirals.

	b. weather.

	c. currents.

	d. torrentials.

25. Methane, water vapor, carbon dioxide, and nitrous oxide contribute most to

a. the greenhouse gas effect.

b. airshadow effect.

c. acid rain.

d. global air circulation.

26. Which of the following is a harmful effect of industrial food production?

a. soil erosion

b. aquifer depletion
c. pesticide residues

d. all of the above

27. Which of the following is NOT an example of nonpoint source water pollution?

a. grit runoff from parking lots

b. use of fertilizer on steeply sloped land

c. plant buffer zones between fields and nearby surface water

d. construction sites

28. What is an effect of ozone depletion?




	a. more skin cancers

	b. vitamin depletion

	c. increased phytoplankton production

	d. all of the above


29. The process by which bacteria and enzymes help destroy toxic or hazardous substances or convert them to harmless compounds is called

	a. nanomagnetism.

	b. phytoremediation.

	c. chlorophlororemediation.

	d. bioremediation.


30. Which of the following in NOT true about paper production and the world's paper industry?

	a. About 55% of the world's industrial tree harvest is used to make paper.

	b. More water is used to produce paper than any other industry.

	c. Paper is extremely easy to recycle.

	d. The pulp and paper industry is the world's largest energy user.


31. What is an example of industries cutting energy waste?

	a. using cogeneration or combined heat and power

	b. replacing electric motors

	c. recycling steel and other metals

	d. all of the above


32. What is a likely consequence in the United States of a shift toward locally available renewable energy sources?

	a. Trade deficits would be reduced.

	b. Consumers’ energy costs would increase.

	c. Consumers would need to adjust their energy use to accommodate a variable energy flow.

	d. Energy efficiency would be compromised in an effort to protect the environment.


33. About what % of the earth's water supply is freshwater.

	a. 2.4%

	b. 7.5%

	c. 24%

	d. 50%


34. Which country produces more solid waste and trash by weight per person?

	a. China

	b. Japan

	c. United States

	d. India


35. Trees are commonly planted around the edges of fields on farms to reduce erosion caused by wind. This is an example of

	a. terracing.

	b. a shelterbelt.

	c. alley cropping.

	d. tillage.


36. How can exposure to pesticides be reduced by the average consumer?

	a. grow food organically

	b. eat less meat

	c. trim the fat off meat

	d. all of the above


37. What resource could reduce our dependence on non-renewable fossil fuels?

	a. sand

	b. wind

	c. coal

	d. glass


38. What is a disadvantage to using hydrogen as a fuel for vehicles or as a fuel for providing heat and electricity?

	a. environmental impact

	b. negative net energy

	c. harder to store

	d. not as safe as gasoline or natural gas


39. What happened to the world grain production between 1950 and 1996 as a result of the Green Revolution?

	a. It increased by 25%.

	b. It was reduced by half.

	c. It remained the same.

	d. It almost tripled.


40. Harmful chemicals emitted directly into the air from natural processes and human activities are

	a. secondary pollutants.

	b. stationary sources.

	c. primary pollutants.

	d. mobile sources.


41. What centuries-old type of energy has been used in food production, transportation, ore extraction, and construction?

	a. natural gas power

	b. wind power

	c. hydro power

	d. solar power


42. What is a benefit of composting?

	a. soil with high water retention

	b. soil that does not erode

	c. increased soil fertility

	d. all of the above


43. How much hazardous waste produced in the United States is regulated under the Resource Conservation and Recovery Act?

	a. about 5 percent

	b. about 15 percent

	c. about 70 percent

	d. about 90 percent


44. Naturally created wetlands used to treat wastewater

	a. smell badly and need to be located away from where people live.

	b. are not affected by seasonal changes in temperature.

	c. supply nutrients for crops.

	d. are relatively inexpensive to operate.


45. Ocean fisheries worldwide could collapse by ______ if overfishing and pollution are not reduced and if climate change is not slowed down.
	a. 2012

	b. 2025

	c. 2050

	d. 2065


46. According to federal law, the United States’ national forests are to be managed using two scientifically based principles. What are they?

	a. sustainable yield and multiple use

	b. sustainable yield and the principle of consumerism

	c. multiple use and economic diversity

	d. sustainable use and economic yield


47. What is an example of property rights vs. use of nature?

	a. the size of a herd of cattle allowed to graze in a field

	b. transportation of industrial waste

	c. economic development of an area.

	d. health risks associated with the use of pesticides


48. ​​​​​​​​​​​​​​​​​​​​​​​​​______________ laws begin as bills and are passed by legislative bodies such as state, federal or local governments rather than judicial decree.

	a. Administrative

	b. Statutory

	c. Environmental

	d. Civil


49. Our energy future depends on

	a. political pressure from citizens.

	b. economic pressure from consumers.

	c. promotion of energy resources by the government and private companies.

	d. all of the above


50. What is a consequence of the use of corn to produce ethanol?

	a. The number of hungry and malnourished people will increase by 2025.

	b. Less reliance on fossil fuels will help reduce the number of hungry and malnourished people by 2025.

	c. Soil erosion will decrease.

	d. Food prices will likely drop.


